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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Dark:Light :: Noise:?

IME : gohl & AR : ?
Options:

1) Music

i

2) Quiet

Mo

3) Melody

oI

4) Vacuum

=

Correct Answer: Quiet
Mo

Candidate Answer: Quiet
MM

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
BECD:GJHI :: LOMN:?

Options:

1) PSRQ

2) PQRS

3) QTSR

4) QTRS
Correct Answer: QTRS
Candidate Answer: QTRS

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
27:125 :: 64:?

Options:

1) 162

2) 216

3) 273

4) 514
Correct Answer: 216
Candidate Answer: 216
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

TFATaf@T Teet # 2T 1w faehenl & & Tawe e/ 31ar/Hedn o &1 Yiav ?
Options:

1) Meter

AR

2) Kilometre

Tenelier

3) Decimetre

SHART

4) Ammeter

iy

Correct Answer: Ammeter

iy

Candidate Answer: Ammeter

T

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives

TF=ATErT weat & fu 970 faehed # O fawa eree/3/8R/HEan 75 1 gt ?

Options:
1) HP

2)C)
3) FN

4) RZ
Correct Answer: CJ
Candidate Answer: HP

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives

TArATaf@d veat # fow 1w faehonl o & fawey erse)/ 3rar/EedT oo &l giaAv ?
Options:
1) 52-61
2) 72-81
3) 54-63

4) 33-41
Correct Answer: 33-41
Candidate Answer: 33-41

Question 7.Arrange the following words as per their order in the dictionary:

TArATAT Usel T eAseehien # feT 1T A & TR i@ ?

1) PHYSICAL

2) PHYSICS

3) PHYSIOLOGY
4) PHYSICIAN
5) PHONE



Options:
1)5,1,4,2,3

2)5,1,23,4
3)1,4,5.2,3

4)1,54,3,2
Correct Answer: 5,1,4,2,3
Candidate Answer: 5,1,4,2,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
TrATAT@T Teat & Ueh 3iefeha T a2 B, FSraat veh ue v &1 ferw a1v fashedt & a5 @61 fashed fAw it 3feTshat sl g1 Y ?

BXM, EUP, HRS, ?

Options:
1) XzY

2) RPN
3) VTU

4) KOV
Correct Answer: KOV
Candidate Answer: [ NOT ANSWERED ]

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
fAFATRIT get & T Jiegshat fem 1T B, FHaal Ueh 9 e &1 U 10 fashedt & & ag @Y fashed AT S 3egshad I QR ?

68, 72, 65, 69, 62, 66, _?__
Options:
1) 59

2) 61
3) 68

4) 75
Correct Answer: 59
Candidate Answer: 59

Question 10.Mohan said 'This girl is the wife of grand-son of my mother'. How is Mohan related to that girl?

FigeT o T " TG TS A AT N T T §1" g H 3T A § TaY TART ?
Options:

1) Grand-father

cret/ et

2) Husband

afy

3) Father

Rrar

4) Father-in-law

R3Rscs

-]
Correct Answer: Father-in-law
qa¥

2

Candidate Answer: [ NOT ANSWERED ]

Question 11.0f the six members of a panel sitting in a row, A is to the right of C, but left of B. E is sitting left of C and right of D, who is sitting to the right of F. Find
the members sitting at the two ends of the row.

Teh GfeFT & 9 UoTel & ©: WeHd A WA, C o arff 30X Sar §, T B & aRiT 30 21 81 E, C 3 o121 31X 3R D & gt 31} dor &1 Siefeh D T3 F o erii 31X o1 § g
cifere & At FheTRY O ler-3 T 45§ 2

Options:

1)D.F

2)AB

3)D.B

4) F.B
Correct Answer: F.B
Candidate Answer: F.B



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
Frrfafa fasmedt & @ g 2rea AT S T 10 2reg & 37aRT T F2aT 93k 8T T SIT e T ?

LEGIBILITY
Options:
1) BILL

2) ABILITY
3) BIG

4) LEG
Correct Answer: ABILITY
Candidate Answer: ABILITY

Question 13.If REDUCE= 56, RECYCLE = 71 then REUSE=?

Ife; REDUCE= 56, RECYCLE = 71 &, aF REUSE fr&ieh sRTeR 8191 ?
Options:

1) 65

2) 68

3) 69

4) 70
Correct Answer: 68
Candidate Answer: 68

Question 14.If '+' means 'divided by', '-' means 'multiplied by', 'xX' means 'minus' and ' + ' means 'plus', which of the following will be the value of the expression:
TR + T 378 AT &Y, - 7 37 IO &, x T 37 & g, 3R + 7 31 S 8, Al = A s2steh &7 AT T gl ?

16 +8-4+2x4="?
Options:

1) 16

2) 28

3)32

4) 44
Correct Answer: 28
Candidate Answer: 28

Question 15.Some equations have been solved on the basis of a certain pattern. Find the correct answer for the unsolved equation on that basis:
2*3%5= 523

6%4*1= 164

8*2%4=482,

then 6*8*2=?

gfe2x3x5="523
6x4x1=164
8x2x4=482%,

dg6x8x2="7
Options:

1) 826

2) 268

3) 286

4) 628
Correct Answer: 268
Candidate Answer: 268



Question 16.Select the missing number from the given responses:

Tow 10 fashed & & Focd HEET #A1d HIfIT ?

5 5 15
6 8 6
8 12 7

240 480 450

Options:
1) 15

2)12
3)8

4)5
Correct Answer: 5
Candidate Answer: 5

Question 17.From her house Rimi went 20 km to the north. Then she turned west and covered 15 km. Then she turned south and covered 10 Km. Finally turning to
east, she covered 15 km. In which direction is she from her house?

B0 3191 TR A SR Y 3T 20 A, Tl 7O g aiersr o 3R o721 31k 15 2. =elt| deaeana g afdior 1 3R 72 3R 10 Rl sl 3rectar: qd 1 3R 733 gu a
15 for. . Tel| 319 98 3 e & fFa fgrr 7 § 2
Options:

1) East

q:c‘r

2) West

qfeas

3) North

3cdY

4) South

gfaor

Correct Answer: North

3cad¥

Candidate Answer: North

3cad¥

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: Some cars are buses.

All cars are caves.

Conclusion: |. Some caves are not buses

1I.Some caves are buses

Ill. No cave is a bus

IV. Some caves are cars

TR U & T AT & ey @Y 713 §, foeh 3T IR Aseh/ARgang, 1, 11, III 3% IV [errer I §1 39t IR T § & aoFded §cd § a8 98 g d:
AT T2IT I Bt Ui 8T 81| 3TIeh! AU et § & U 910 aorded & ¥ Fl-a1 ARad & F TEr s/ Aeadr el ST @t § ?
FAeT : 1. Fo IR TH T

2. Tl R A g

fAeay ;1 gﬁswaﬁﬂé‘r%‘l

11 %o HT a4 &

III IS I[H a4 6 B

IV Fo AT FR &

Options:

1) Only IConclusion follows

oo [ fAvmy T g

2) Only llconclusion follows

o sy 1 T8

3) Only conclusions lland 1V follows

gl 11 AR IV Fvay agr &)

4) Only conclusion IV follows

oo sy IV T g

Correct Answer: Only conclusions lland IV follows

Faer 11 3R IV sy @@ §)

Candidate Answer: [ NOT ANSWERED ]



Question 19.6 faces of the cube are painted with different colours as shown below. In figure 3, which colour is opposite to RED?

Scileh % 6 Thefehl i AT TGWIT 3TTAR TT-376RT T & Y o2 I €1 3Mepfer 3 & ol 7 & 8ok HIeel led-&1 7 8 ?

T { k7| | BIE — e
2| ; 3 al |
= RED RED || S orange || S
NRANGE A N = il =2
4 A ¥ A
1 | 3 4
Options:
1) Black
2) Yellow
3) Orange
4) Pink

Correct Answer: Orange
Candidate Answer: Yellow

Question 20.Which of the following diagram represents the relationship among Tall men, Black haired, Indians?

frfafEd 7 & Fi0-01 3G, T AT, Frer T aTer A& HAT AR ARRT & ST oo g & ?

Options:
E) E




Correct Answer:

H *!7{\}

EEFIREREEY:

Question 21.Which answer figure will complete the figure in the question figure?

HleT-BT SoclT 3Tt TR SMFTA o FTTeT T T M 2

1

™,

Y " .




Options:
-

Candidate Answer: [ NOT ANSWERED ]
Question 22.Select the one in which the question figure is hidden/embedded:

& T Secll ITPTAT A A Secll ITPiT T AT Toraat geat iy fAfea & ?




Options:

1)
2) .
N
N
N
3)
/|
Vi
\\
4)
W
//'
rd
PN
N
Correct Answer:
/|
Wi
\\

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I Ry Fmarer 1 A fw et 3 Remnw 3TER HSeR Fhier ST |t Wiew & a1g a R 3ndhtar Star fwrs &am ?




Options:

1)
)
S |
Yy Y
2)
i £
- p—
3)
i o
=) LT
™y i
e f-
4)
O O
Correct Answer:
i o
-y L
Y .
e -
Candidate Answer:
o, P
-y L
Ty P
- p-—

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

TAEATEe 9ot & TS Teh aqoT T MN X@T 0 TGN ST oY & 1S SealX SHTerat & & a2 mepfer 9ot 3Tepfer 1 Fel Ficrfaesr gm ?

[T\
N

\

A\
™
/

M




Options:
1)

Pl
=l

(N
UL

2)

AN Aam
T

~
i

MH
N

4)

1)
SRip

Vi
<

Correct Answer:

3

\u
Candidate Answer: [ NOT ANSWERED ]

~
7
/
™
L/

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'B' can be represented by 00,13, etc. , and 'O’
can be represented by 56, 68,etc. Similarly, you have to identify the set for the word 'TEAR'.

AT weet # et # T aIv Fear-vag, 3T & ar 391t g@nT aiTT 91T §, S fo iy few a1w ar ameggt # §1 3meyp | & sam AR il fraeam o a4 a& &
TE Y, I HTeYE 11 & 5 T 9 A, ST MTeYgH & Teh 3R Y Tger 3HT It 31X o1 3 Tei97 TeaT Z@RT aRfiam ST FehalT €1 3amedvr & e, B &Y 00, 13 30 garr axfrar
SIT GehelT & 14T O T 56, 68317 ZaRT ST ST HehelT 1 S8 TXE & 3T U 2ee ' TEAR' & T THg I Gg=iaa ¢

MATRIX 1 BAATRIL2
a 1 2 3 5 . 5 : b 7 8 9
0] B L B) E A 3 R - 8] M i3 [
I [ |E & |8 |€ 6 [T (U |[R |© N
2 L8 D E A B 7 o N ] u R
3 A B C D E & U R o M N
4 E A B £ D 3 il T U R @]

Options:
1) 58,34,21,67

2) 96,11,26,12
3) 65,40,23,79

4) 77,58,21,98
Correct Answer: 65,40,23,79



Candidate Answer: 65,40,23,79

Question 26.Which of the following was not actively engaged in social and religious reforms in India ?

Aol 3 & Fiet 7R # Fto 3R i quR # wfFrar § 78 2 &2
Options:

1) Raja Ram Mohan Roy

ST TH Higel I

2) Pandit Iswar Chandra Vidyasagar

T SR o REIRNR

3) Jotiba Phule

ST gt

4) Bharatendu Harish Chandra

HR7g gReTTg

Correct Answer: Bharatendu Harish Chandra
HReg FReTs

Candidate Answer: [ NOT ANSWERED ]

Question 27.The main effect of Direct Taxes is on

eI - F AT T W GHE fHE R Isaqr s ?
Options:

1) Food prices

ey gerdf T HHAdr

2) Consumer goods

STHIFAT I R

3) Capital goods

GoMaTe Hiel I

4) Income

3T W

Correct Answer: Income
T X

Candidate Answer: Income
T WX

Question 28.Who has the power to prorogue the Lok Sabha ?

oeh T TAFANT et hr HHR A g ?
Options:

1) The Speaker

egeT

2) The Prime Minister

e AT

3) The Minister for Parliamentary Affairs
THET R A

4) The President

ISgafa

Correct Answer: The President

rsgafar

Candidate Answer: The Speaker
egey

Question 29.The first Europeans to come to India were

AR 37TeT aTel T U Hlet & ?
Options:

1) British

fafer

2) Dutch

ER)

3) French

AT

4) Portugese

EGEIC

2
Correct Answer: Portugese

et

)

Candidate Answer: [ NOT ANSWERED ]



Question 30.The term 'Dumping' refers to

STRIAT(ITe=T)" reg; fhaeh forT gaieT fohaT ST § 2

Options:

1) The sale of a sub-standard commaodity

37aHAEAS st T fashr

2) Sale in a foreign market of a commaodity at a price below marginal cost

el It T WA T & A HIAd I R faceh s # foshr

3) Sale in a foreign market of a commaodity just at marginal cost with too much of profit
fereir <fiet <Br Tt eleTel OX Sig T 4ok oot oAl g fojerel smome 3 fashr

4) Smuggling of goods without paying any customs duty

AT Lok faI=AT 37T T §U AT BT TR

Correct Answer: Sale in a foreign market of a commodity at a price below marginal cost

TR AT T e oeTd & Sl hrAd oY fhar facRl sTeR & foshr

Candidate Answer: Smuggling of goods without paying any customs duty
AT 3oeh TSI=AT 37T I §T HIeT T AR

Question 31.When does the sun shine vertically on the Equator ?

T AT TWT TR FEATER e THSAT 52
Options:

1) Throughout the year

X ay

2) For six months

©: Alg

3) Twice a year

EAE IR

4) Once a year

¥ H TH IR

Correct Answer: Twice a year
¥ Fararv

Candidate Answer: Once a year

¥ H U SR

Question 32.Lichen is an association between which of the two ?

SEheT foheT & o ST T TET & ?
Options:

1) Algae and fungus

eitarer 3R Faw

2) Algae and tree

Aarer 3T F87

3) Fungus and tree

Has iR &7

4) Bacteria and legume plant
Sty 3 R oier

Correct Answer: Algae and fungus

eitarer 3R Faw
Candidate Answer: [ NOT ANSWERED ]

Question 33.Among the given nutrients, milk is a poor source of which of the following ?

;ﬁﬁﬁvmqﬁwaﬁﬁﬁ@qﬁ:ﬁwa@mmﬁm%?
Options:

1) Vitamin 'C'

@t C

2) Calcium

FfeTaa

3) Protein

T

4) Carbohydrate

FefgEse

Correct Answer: Vitamin 'C'
Rafaa C

Candidate Answer: Protein
T

Question 34.What is a Pepper plant ?

el T 1 Qe FAT R ?



Options:
1) Bush
ELC

2) Shrub
oler g&t
3) Vine
CEC)

4) Tree
LES
Correct Answer: Vine
Sof

Candidate Answer: Shrub
BIeT gaT

Question 35.Why does a cannon recoil after firing ?

T AT BIERAT & d1g 91 F41 gedr 8 ?
Options:

1) Conservation of energy

il T EETOT

2) Backward thrust of gases produced
Scatord 3t a1 A Y 3R LR o &
3) Newton's third law of motion

& T A T A TH

4) Newton's first law of motion

et &1 A & gUH HAIH

Correct Answer: Newton's third law of motion

Y& T A T A g

Candidate Answer: Backward thrust of gases produced

Scafartd 3t 1 e T 3R e oot &

Question 36.Which of the following statement is true?

fAFfaTld 7 ¥ HleT T YT Tl & ?
Options:

1) A Primary key is also a candidate key

T 'UIBAY i ‘Fedse v o g

2) Each relation has at least one foreign key
e Rolelet & ol & el Teh 'GRA ' el &
3) Foreign keys can't have null values

BT Y AT YT He 761 81 Fehdll

4) A Primary key is also an alternate key
IISHLT ' '3Tectere ' W g |

Correct Answer: A Primary key is also a candidate key
TF 'IAd ' "Fedise i g

Candidate Answer: [ NOT ANSWERED ]

Question 37.Which of the following is used as non-stick coating for cooking utensils?

AT TAT a1l Sl 7 [Aefaf@d 7 & a1 sl - e Pifeer & fow gaier frar smar g ?
Options:

1) Perspex

JEFT

2) Styrofoam

FRRIBIA

3) Polystyrene

giferEerg e

4) Teflon

[ercic)

Correct Answer: Teflon

i)

Candidate Answer: [ NOT ANSWERED ]

Question 38."Tsunami" is the name given to which of the following?

gAY oA R T A § 2



Options:

1) Earthquake

g

2) Cyclone

gshdld

3) Tidal Waves

SAR dlaT

4) Undersea Waves

g & AR s

Correct Answer: Tidal Waves
SART dL@T

Candidate Answer: Undersea Waves
oz & A s A

Question 39.The first Indian citizen to get commercial Pilot's Licence was

TUH ARAT ARTRS, [0 'FARTT Ioe isda A ar=, HisT a1 ?
Options:

1) Vijaypat Singhania
[CEREGRGEITE

2) J.R.D.Tata

FAR.EERT

3) Captain Gopinath

heesT YIS

4) Vijay Mallya

T AT

Correct Answer: J.R.D.Tata
A.3RAERT

Candidate Answer: J.R.D.Tata
FARZeeT

Question 40.Which of the following is/are 'rain cloud'?
1. Cirrus

2. Nimbostratus

3. Cumulonimbus

4. Altocumulus

AT 7 | Fled-iT G IRT F a5 8 ?
1. &g A7

2. aNT &0 AT

3. FAAEH

4, HET U AT
Options:

1) 1 and 2 only
Fae 132

2) 2 and 3 only
Faer 2 33

3) 3 and 4 only
Fad 3 AT 4

4) 1 and 4 only
Fad 13K 4

Correct Answer: 2 and 3 only
Fad 2 3K 3

Candidate Answer: 1 and 2 only
Fad 1312

Question 41.According to the Indian Constitution, who has the power to declare emergency ?

AN HIET & TTHR 3HTITeT R ey shter ohr iR et & 2



Options:

1) Prime Minister

TENAFAT I

2) President

egafa &

3) Chief Justice

4) Parliament

HHG H

Correct Answer: President
regufa &r

Candidate Answer: President

ISt Hr

Question 42.Particulates (< 1 pm size) remaining suspended in air indefinitely and transported by wind currents are called

Tafarererar (< 1 um 37TehR) S 3ITARET el o7eh A & f¥eiferd gl § 3R a YaTe eaRT 3ec Rl Bl &, T hgolliell § ?
Options:

1) Mists

Ferr

2) Fumes

LI

3) Aerosols

Ve

4) Smoke

BEl]

Correct Answer: Aerosols

WIrEer

Candidate Answer: [ NOT ANSWERED ]

Question 43.The least preferred technique in the disposal of Municipal Solid Waste is :

IR ITIehT SaRT SI 39T gery fAger it dehelieh it T8 Fa TG Sl Sl § -
Options:

1) Incineration

FreEoT

2) Composting

FFIEE HAT

3) Land filling

S R

4) Bricketting

forepfaT

Correct Answer: Bricketting

frepfear
Candidate Answer: [ NOT ANSWERED ]

Question 44.A bomb explodes on the moon. You will hear its sound on earth after

I I TH TegAT W RAEnfed giar & a gdt oX 3gehr 31marer frdst &X a1g gerrs el ?
Options:

1) 20 minutes

20 fAeTe

2) 2 hrs 20 minutes

2 g¢ 20 fAee

3) 3.7 hours

3.78C

4) You cannot hear the sound of explosion

319 Taehie HT eafer 7ET gof Tehel

Correct Answer: You cannot hear the sound of explosion
379 Taehie #T eafer 7ET gof Tehel

Candidate Answer: You cannot hear the sound of explosion
379 Taehie #T eafer g T Tehel

Question 45.Which one of the following takes place during a nuclear fusion?

FIFAI Hordel & eV TArrfaf@a A d g g ?



Options:

1) a heavy nucleus bombarded by neutrons breaks up

I SHANT W SR ST Wi BT | |

2) a heavy nucleus breaks up spontaneously

Toh HRY =G o3 T § Gis 81 S |

3) two light nuclei combine to form a heavy nucleus

2 5o oS AT X T N I fForad FTdt 5

4) a light nucleus breaks up spontaneously

T Goml wie3id T & Wfsd g o g |

Correct Answer: two light nuclei combine to form a heavy nucleus
& &edh ~gFTS AT T Uk TN =g fFerad a1 &

Candidate Answer: two light nuclei combine to form a heavy nucleus

2 o TFelTS e Y T NI s fFerad ot ¢

Question 46.Arrange the following cities in an order from North to South
1) Bhubaneshwar

2) Chennai

3) Hyderabad

4) Cochin

TAFfafEa e 1 3cak A gfaror S fewn & e A fafge ?
1) sg=eax

2) Ao=T$

3) teeTE

4) AR
Options:
1)1324
2)1234
3)1243

4)1342
Correct Answer: 1324
Candidate Answer: 1342

Question 47.British achieved political power in India after which of the following ?

fifesr & qrsreiifer aferet ek aTe; oreet & 2
Options:

1) Battle of Plassey

TR T g

2) Battle of Panipat

AT g

3) Battle of Buxar

JFER H g

4) Battle of Wandiwash

FEAT H J&

Correct Answer: Battle of Plassey

T I g

Candidate Answer: [ NOT ANSWERED ]

Question 48.The number of permanent members of the U.N. Security Council is

TG IS G FISEel b TARK Ferd ! i Fem et & 2

Options:
1)5

2) 15
3) 10

4) 25
Correct Answer: 5
Candidate Answer: 10



Question 49.Match list (I) with list (II)

a. SARAS i}battle tank
i ||}mu|t|;_:|urpose civil
aircraft
c.BRAHMOS ili}satellite
dIMSAT-3C iv)missile
= (1) &7 g (1) & fAereT &Y
I 1]
5. O i) 9ed ¢F
b. HisH i) Afecady fafad g9 98
¢ S iii) Bedge
d.é‘ﬁ?—aﬁ? iv) i3Iﬂfé-t‘l
Options:

1) a-i, b-ii, c-iii , d-iv
2) a-iii , b-ii , c-iv,, d-i
3) a-iv, bHiii , c-i, d-ii

4) a-ii , b-i, c-iv, d-iii
Correct Answer: a-ii , b-i , c-iv, d-iii
Candidate Answer: a-ii , b-i , c-iv, d-iii

Question 50."World Economic Outlook" report is published by which of the following ?

ToE GhIAITHS T3 RUIE fhaeh ZanT YR 1 el § 2

Options:

1) IMF

JeRTSET HgT Y

2) World Bank

eg d&

3) RBI

AR Rerd &

4) UNCTAD

J AT
Correct Answer: IMF
JeRTSET HaT Y
Candidate Answer: IMF
RIS HaT

Question 51.The rate of working of A and B are in the ratio of 2:3. The number of days taken by them to finish the work is in the ratio:

A 3R B o o1 h¥el SR & 2:3 & 37U H | 3eTh SaRT 1A 1 U FA 3 AT 10 foit 1 3toqarer s gham ?

Options:
1) 2:3

2)4:9
3)3:2

4) 9:4
Correct Answer: 3:2
Candidate Answer: 4:9

Question 52.The ratio of two positive numbers is 3:4. The sum of their squares is 400. What is the sum of the numbers?

& eTlcaeh HEATIHT T IeTdTcT 3:4 & 3eTeh Gt T N7 400 §| HEATHT T T fohetat § ?



Options:
1) 28

2) 22
3)24

4) 26
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

Question 53.If 10% loss is made on selling price, then the rate of loss on the cost price will be

Ffe; ToIshT 7o TR 10% T g1fet 81l &, ol WeTel Fed IR glfed hT &3 T glal 2

Options:
1)

1110/
g/

2)

9 o
117

3) 10%

4) 11%
Correct Answer:

11 ! %
9 o
Candidate Answer:

9 o
1"

Question 54.If "basis points" are defined so that 1 percent is equal to 100 basis points, then by how many basis points is 82.5 percent greater than 62.5 percent?

R 3R gt @ 5w s aRenTe R e B 1 e 100 3R Rigyt & st § &Y frae smuR &g 62.5 S & 82.5 vl st § 2

Options:
1)0.2

2) 20
3) 200

4) 2000
Correct Answer: 2000
Candidate Answer: [ NOT ANSWERED ]

Question 55.Sound travels at 330 metres per second. The distance (in kilometres) of a thunder cloud when its sound follows the flash after 10 seconds is

eafer 330 #irex wfer ds i 1T F AT AT | A Aeelt 3 2ToTer St JTaTeT STl To et & 10 63 T1G FoT1s & ot 38t o (Freiiediex 31) feraretr g1aft 2

Options:
1) 0.33 km

2)3.3 km
3) 33 km

4) 33.3 km
Correct Answer: 3.3 km
Candidate Answer: 0.33 km

Question 56.For what sum will the simple interest at R% for 2 years will be R?

TordelT T 9 2 9 fr R% TR ATLIROT sATST R 89T ?



Options:
1)
100

2R

4)
200

R

Correct Answer:
100

R

Candidate Answer:
100

2R

Question 57.

1 1
IFP?+ = =47, the value of P + —Pis

g pi+ 1 —a78l,dlp+ lHIAF TN ?
p? P
Options:

1)5

2)6
3)7

4)8
Correct Answer: 7
Candidate Answer: 7

Question 58.The third proportional of the following numbers (x-y)?, (x%-y2)? is

()2, (-y?)? g1 HeEa3it 1 SNERT AR T Y ?
Options:
1) (x4y)® (xy)?

2) (x+y)* (x-y)?
3) (x+y)? (x-y)?

4) (x+y)? (x-y)?
Correct Answer: (x+y)* (x-y)2
Candidate Answer: [ NOT ANSWERED ]

Question 59.Two circles touch each other externally. The distance between their centres is 7 cm. If the radius of one circle is 4 cm, then the radius of the other circle
will be

& gl ATEY &1 3 T TH GER &1 T Il § 1 3o i o ara &1 gl 7 AT, §1 e v o 1 e 4 @, €, A g@ ol 7 P e gt ?
Options:

1)3cm

3 {..

2)4cm

4877

3)5.5cm

5.5 |

4)3.5cm

3.5 3.4

Correct Answer: 3 cm

34

Candidate Answer: 3 cm
3



Question 60.Let AABC and AABD be on the same base AB and between the same parallels AB and CD. Then the relation between areas of triangles ABC and ABD will
be

FIAT & AABC 3R AABD T#HTT ATYR AB WX §, 3R T#RT TAART AB 31X CD & 1T &, dT AABC 31X AABD & &19thel & aTd T TFa=-8T BI9TT ?

Options:
1)

AABD = é AABC

2)

AABD = % AABC
3)

AABC =% AABD

4)
AABC =AABD

Correct Answer:
AABC =AABD

Candidate Answer: [ NOT ANSWERED ]

Question 61.The least value of tan?x + cot?x is

tan®x + cot’x T FgTcTH HIT FATE ?

Options:
1)3

2)2
3)0

4)1
Correct Answer: 2
Candidate Answer: 1

Question 62.While selling a watch, a shop-keeper gives a discount of 5%. If he gives a discount of 7%, he earns || 15 less as profit. The marked price of the watch is

Tk GeRTeIaR T8T Sl HAEY 5% T T ol ¥ A a8 7% P2 AT § oY a8 AT & I H U 15 F HHICT ¢ | T3 T i Hog FATE ?

Options:
1) 697.5

2) 712.5
3) 750

4) None of the these
Correct Answer: 750
Candidate Answer: [ NOT ANSWERED ]

Question 63.What least value must be assigned to '*' so that the number 63576 * 2 is divisible by 8?

" & T I Tohelall eTcl# Hiel I@T SV o 63576*2 Tear 8 & fasnfaid g1 s ?

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3

Question 64.A student, by mistake, wrote 64 in place of 46 as a number at the time of finding the average of 10 given numbers & got the average as 50. The correct
average of the numbers is

Teh BT o & 7S 10 FEIATHT o1 3 aa AT S TFET aTerdt ¥ 46 & S 64 forar 3R sitaa 50 ewren, Tt & @) sitaa wa fifee ?



Options:
1) 48.2

2) 48
3)48.1

4) 49
Correct Answer: 48.2
Candidate Answer: [ NOT ANSWERED ]

Question 65.
Fx+v5=5+ \fv and x, y are positive

VE+y

x+ ¥

is

integers, then the value of

e x+vs5= 5+u‘yéﬁ?x,yiﬁmq\”ﬁ$%

vty
Wy g5 PIANTNG?
Options:
1)1
2)2
3)V5
4)5

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 66.The cube of 997 is

997 FEUT FATE ?

Options:
1) 991026973

2) 991029673
3) 991029773

4) 991097273
Correct Answer: 991026973
Candidate Answer: 991026973

Question 67.Length of the sides of a triangle are a, b, ¢ respectively. If a2 + b2 + c2 = ab +bc + ca then the triangle is

ues et &1 I3t T TS FIRE: a,b,c ¥1 AR a% + b2 + 2 = ab + be + ca & A T FT g ?

Options:
1) isosceles
FHGfAEE

= el
2) equilateral

3) scalene

[EREEIG

4) right-angled

FHRIONT

Correct Answer: equilateral
AT

Candidate Answer: isosceles

TAGISTR

S S

Question 68.The area of the circle with radius Y is W. The difference between the areas of the bigger circle (with radius Y) and that of the smaller circle (with radius
X) is W'. So x/y is equal to

e Y arer gedt &7 &Ther W §1 93 gedd (B Y arer ) & 81wet 3R o1 ged (B X atel ) 3 &iher &7 3T W' § ar X/Y faraes s giam ?



Options:
1)

W

a)
ll_w
ey

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 69.If cos 21° = x/y, then cosec 21° - cos 69° is equal to

JfE cos 21° =x/y &, dT cosec 21° — cos 69° THTFH ST &I ?
Options:

yxt —y?

Correct Answer:
%2

=3
wWy?—a?

Candidate Answer: [ NOT ANSWERED ]

Question 70.A right circular conical structure stands on a circular base of 21m diameter and is 14m in height. The total cost of colour washing for its curved surface at
[16 per sq. m. is

(Take M = 22/7 )

U S gocli QTR e 21 #. ST ATl JedhR TR 0 @sT & Forwehr 3em$ 14 2. Bl 1) 6 9 aefeliex & fearar & foRer ware o Gmis &1 oot oot fovetett g1t 2
(ST N =22/7)

Options:
1) 4365

2) 4465
3) 3465

4) 3365
Correct Answer: 3465
Candidate Answer: [ NOT ANSWERED ]



Question 71.A telegraph post is bent at a point above the ground. Its top just touches the ground at a distance of 8v3 m from its foot and makes an angle of 30° with
the horizontal. The height (in metre) of the post is

T SR GHT SfieT o SR Teh 1o TR STohT §3HT &1 3T MY 30 91e; & 8v/3 7. 1 g1 I STeler bt Tl FiXelT & X &St 9= 30° T hIOT SATelT & | T oy Fraims

Forcety (e #) & ?

Options:
1) 12

2) 16
3)18

4) 24
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]

Question 72.Study the graph and answer the following questions.
The graph shows the number of bicycles parked in the parking space of a hall at various points of time.

TH T AT I A} FATAR—T 9eaAT & 3ea’ QS|
I # TR gleT & TTehaT TATeT IR 3TeidT-3TeleT THY 3 UTeh T a7 ASfhel oY 913 B

80 75 &

— —

45 45

30 25

20
10

a 10 11 1n 1pm 2pm 3pm dQpom Spm Gan Fem Bpm
am am am neon Tilne

Numberof parked bicycles
L¥s)
(=]

Charges for parking is Rs. 1 per hour. What will be the total collection from 9 AM to 7 PM

TféhaT o I Rs. 1 9t €10 g1 &l 1T O ot & HRI 7 i e el ohelell €iITRT UehfaeT gty ?

Options:
1) Rs.625

2) Rs.635
3) Rs.685

4) Rs.695
Correct Answer: Rs.695
Candidate Answer: Rs.685



Question 73.Study the graph and answer the following questions.
The graph shows the number of bicycles parked in the parking space of a hall at various points of time.

TH T AT R 3N FATAET 9T & 3ear QS|
I # TR gleT & TTTehaT TATeT IR 3TeidT-3TeleT THY H UTeh 1 a7 Asfhel =iy 913 B

100, 95

80 75 75

w
wn

50 45 a5

30 25

20
10

1pm 2pm 3pm dQpm Spm Gam Fem Bpm

Numberof parked bicycles

L

10 11 12
W am am neon Time

What is the percentage decrease in the number of parked cycles between 7 pm and 8 pm? (in whole number)

I 7 FoF § 8 o & a1 aTeh 1 1S Wrsfenelt i e 7 wad iR wal afded war g 2

Options:
1) 30

2) 38
3) 42

4) 45
Correct Answer: 45
Candidate Answer: 45

Question 74.Study the graph and answer the following questions.
The graph shows the number of bicycles parked in the parking space of a hall at various points of time.

T I AT Y AR AFATAET Te&AT & 3ea} G|
Ih H Tl gTeT 3 TSRt TATT IR 3TeT9T-37009T TR & Uk 7 1S g fohel =i 18 &

100, 95

80 75 75

w
wn

50 45 a5
40 35

30 25

20
10

1pm 2pm 3pm dQpm Spm Gam Fem Bpm

Numberof parked bicycles

L

10 11 12
W am am neon Time

What is the average number of parked cycles as seen from the graph?

T T SR AT, UTeh T 3T TS hell 1 3ad AT Far g ?



Options:
1) 40

2) 45
3)55

4) 60
Correct Answer: 60
Candidate Answer: 60

Question 75.Study the graph and answer the following questions.
The graph shows the number of bicycles parked in the parking space of a hall at various points of time.

TR T AT X 3R FeAfaf@d g2t & 3car v
I Y BieT & TTehaT TATT IR 37e1aT-37el9T THT & UTeh T TS Als el oY 91 B

80 75 5

= P

45

30 25

20
10

L] 10 11 12 1pm 2pm 3pm dpm Spm Gam Fpm Bpm

Number of parked bicycles
L
[ =]
S
o

am am am neon TiEHQ

How many times, as mentioned in the graph, is the number of parked cycles above average?

A H =il IR I T 31 TS fahell i Team it dafRs & 2

Options:
1)3

2) 4
3)5

4)6
Correct Answer: 6
Candidate Answer: 6

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

RATIONAL
Options:

1) TIDY

2) AGREEABLE
3) LAUDABLE
4) LOGICAL

Correct Answer: LOGICAL
Candidate Answer: AGREEABLE

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INTERIM

Options:

1) PROVISIONAL

2) TENTATIVE

3) PERMANENT

4) INTERVAL

Correct Answer: PERMANENT

Candidate Answer: INTERVAL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.



Options:

1) Breif

2) Percieve

3) Relieve

4) Cheif

Correct Answer: Relieve
Candidate Answer: Relieve

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The King Juan Carlos of Spain(A)/arrived in London today(B)/for a three day visit(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Many people die(A)/with cholera(B)/every year(C)/No error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I was(A)/at loss(B)/and did not know what to do(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The king was moved with ©for the beggar
Options:

1) pity

2) piety

3) pithy

4) privy

Correct Answer: pity

Candidate Answer: pity

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

A big dictionary the table near the door
Options:

1) are on

2) is over

3)ison

4) is up

Correct Answer: is on

Candidate Answer: is on

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Mr. Sen is absent today. He sick
Options:

1) has to be

2) could have been

3) might be

4) must have been

Correct Answer: might be

Candidate Answer: might be



Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Feather in one's cap

Options:

1) Discrimination

2) A new and additional distinction

3) Hunting

4) Bird watching

Correct Answer: A new and additional distinction

Candidate Answer: A new and additional distinction

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Donkey's years

Options:

1) A decade

2) A long time

3) A century

4) Since school days

Correct Answer: A long time
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Leave no stone unturned

Options:

1) Try every possible way

2) Behave smartly

3) Constructing

4) Wasting no time

Correct Answer: Try every possible way
Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A child born after the death of father
Options:

1) Post dated

2) Premature

3) Paternal

4) Posthumous

Correct Answer: Posthumous

Candidate Answer: Posthumous

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who completely abstains from alcohol
Options:

1) teetotaller

2) drunkard

3) alcoholic

4) imposter

Correct Answer: teetotaller

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who is able to use both hands
Options:

1) Sinister

2) Ambidextrous

3) Ambivalent

4) Amateur

Correct Answer: Ambidextrous
Candidate Answer: Ambivalent

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

In case of a natural calamity the shortage of essential things must be overcome in a short time
Options:

1) commodities

2) consignments

3) material

4) No improvement



Correct Answer: commodities
Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She decided to go there, though her husband cautioned her on it
Options:

1) against

2) for

3) about

4) No improvement

Correct Answer: against

Candidate Answer: about

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I am very much interested in your story
Options:

1) have been very interested

2) am much more interested

3) am very interesting

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

He refused the charge brought against him
Options:

1) disagreed

2) disowned

3) denied

4) No improvement

Correct Answer: denied

Candidate Answer: disagreed

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Working hard students always achieve good results
Options:

1) Energetic

2) Industrious

3) Talented

4) No improvement

Correct Answer: Industrious

Candidate Answer: Talented

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Namita is from the state of Kerala. She has come to Dubai to serve as a governess for the only child of the Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something that makes her jittery. Mr. Nair is not employed in an American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go back to her home town to her own people.

Gopal is from a very poor family. His family owns a very small piece of land that can hardly meet their food requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to meet the expenses on travelling, the family decides to sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor confiscates Gopal's passport and gives him a small place to live in with ten others like him. Gopal has little idea
what he must do.

Which word from the ones given below, best describes Namita's relationship with her employers in the beginning?
Options:

1) Cordial

2) Friendly

3) Sympathetic

4) Complaining

Correct Answer: Cordial

Candidate Answer: Friendly



Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Namita is from the state of Kerala. She has come to Dubai to serve as a governess for the only child of the Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something that makes her jittery. Mr. Nair is not employed in an American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go back to her home town to her own people.

Gopal is from a very poor family. His family owns a very small piece of land that can hardly meet their food requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to meet the expenses on travelling, the family decides to sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor confiscates Gopal's passport and gives him a small place to live in with ten others like him. Gopal has little idea
what he must do.

What does the phrase, 'makes her jittery' imply?
Options:

1) Sadness

2) Anger

3) Trauma

4) Anxiety

Correct Answer: Anxiety

Candidate Answer: Trauma

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Namita is from the state of Kerala. She has come to Dubai to serve as a governess for the only child of the Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something that makes her jittery. Mr. Nair is not employed in an American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go back to her home town to her own people.

Gopal is from a very poor family. His family owns a very small piece of land that can hardly meet their food requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to meet the expenses on travelling, the family decides to sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor confiscates Gopal's passport and gives him a small place to live in with ten others like him. Gopal has little idea
what he must do.

Namita and Gopal are in a similar situation, because they
Options:

1) love their families

2) are happy with their situations

3) are from impoverished families

4) are stranded in a foreign country

Correct Answer: are stranded in a foreign country
Candidate Answer: are stranded in a foreign country

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Namita is from the state of Kerala. She has come to Dubai to serve as a governess for the only child of the Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something that makes her jittery. Mr. Nair is not employed in an American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go back to her home town to her own people.

Gopal is from a very poor family. His family owns a very small piece of land that can hardly meet their food requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to meet the expenses on travelling, the family decides to sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor confiscates Gopal's passport and gives him a small place to live in with ten others like him. Gopal has little idea
what he must do.

Namita's situation is better than that of Gopal, because she
Options:

1) has a well behaved employer

2) knows what she wants to do

3) loves the new place and the child

4) now knows about her employer

Correct Answer: knows what she wants to do

Candidate Answer: has a well behaved employer



Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Namita is from the state of Kerala. She has come to Dubai to serve as a governess for the only child of the Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something that makes her jittery. Mr. Nair is not employed in an American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go back to her home town to her own people.

Gopal is from a very poor family. His family owns a very small piece of land that can hardly meet their food requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to meet the expenses on travelling, the family decides to sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor confiscates Gopal's passport and gives him a small place to live in with ten others like him. Gopal has little idea
what he must do.

The conclusion that can be drawn from both situations is that people should
Options:

1) stay in their own countries and villages

2) feel contented and satisfied with their lot

3) verify details before accepting any job

4) not travel to these regions of the world

Correct Answer: verify details before accepting any job

Candidate Answer: stay in their own countries and villages



